Worksheet 10 Year 5 6.7.20

How do we use methods?

1.1,840,732 + 3,832,801 =

2.2,428,088 — 294,387 =

3.3987x4 =

4.6398 +5=

5.4,983,163 + 15,632 =

6.482,392 - 4,821=

7.4930x 5 =

8.4281+6=

9. School A spends £24,502 on books and paper. School B spends £39,523.
How much did they spend altogether?

10. How much more did School B spend?

11. If I share my lottery win of £1,525 equally with 5 of us. How much will
we each get?

12. Soldiers line up in 16 rows of 16. How many soldiers are there
altogether?.

USE THE SQUARED PAPER FOR YOUR WORKINGS OUT









